Regents Exam Questions N.RN.B.3: Operations with Radicals 2
Page 1
www.jmap.org




Name: __________________________________



1
Expressed in simplest radical form, the product of [image: image1.png]


 is

	1)
	[image: image2.png]




	2)
	[image: image3.png]




	3)
	[image: image4.png]




	4)
	[image: image5.png]






2
Which value is equivalent to the product of [image: image6.png]


 and [image: image7.png]


?

	1)
	[image: image8.png]




	2)
	[image: image9.png]




	3)
	[image: image10.png]




	4)
	[image: image11.png]






3
Simplify:  [image: image12.png]e xAf12





4
Simplify:  [image: image13.png]30 x a0





5
Simplify:  [image: image14.png]12 x 324





6
The expression [image: image15.png]


 is equivalent to

	1)
	[image: image16.png]




	2)
	[image: image17.png]




	3)
	8

	4)
	4



7
Rationalize:  [image: image18.png]




8
Simplify:  [image: image19.png]




9
Simplify:  [image: image20.png]a5





10
Simplify:  [image: image21.png]BH





11
 Express [image: image22.png]


 in simplest radical form.


1
ANS:
2

[image: image23.png]615 = 90 = .10 = 3410




REF:
060627a

2
ANS:
1

[image: image24.png]102 2006 =812 = 804 - AJ3 = 1643




REF:
061528ia

3
ANS:


[image: image25.png]



REF:
119313al

4
ANS:


[image: image26.png]



REF:
039505al

5
ANS:


[image: image27.png]2882




REF:
039114al

6
ANS:
4

[image: image28.png]



REF:
010622a

7
ANS:


[image: image29.png]&

BE




REF:
fall2303ai

8
ANS:


[image: image30.png]



REF:
119313al

9
ANS:


[image: image31.png]



REF:
039505al

10
ANS:


[image: image32.png]



REF:
099414al

11
ANS:


[image: image33.png]



REF:
011431ia
